Reg. No: LJJ__L,LJ Lu

G .T.N. ARTS COLLEGE(AUTONOMOUS )

(Affiliated to Madurai Kamaraj Univer Sity)
. (Accredited by NAAC with ‘B’ Grade)
END SEMESTER EXAMINATION — APRIL 2019

Programme : B.Com(CA) ~ Date:8-5-2019
Course Code : 170CCC43" - e Time : 10. 00 p-m to 1. 00 p-m
Database Manaoement System Max Marks 75

Course Title :

s 4 R SECTION A [10x1—10]7-
| “Answer ALL the Questmns
Choose the Correct Answer.

1 are predlcates that defme correct database states ‘
[a] Schema- . , [b] Constramts
| [c] Relatlonshlps : ‘ i, [d] Data
2. Which of the follomng 1S the structure of the database?

[a] table: ST ' [b] schema

_ [C]DBMS " - - S [d] view

3. -An,. isa set of entities'of the same type that share the same’ -

properties Or attributes. : ’

[a] Entity set | - [blattribute. set .
. [c] relation set e ~ [d] entity model

4. The attrlbute age 1S calculated from date of b1rth The attrlbute age
s of age. . .

[a] simple £, e ) [b] mu_ltl_-valued\

[c] derived - | g O e R[] composite -

\
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O \_\’ hich of the following keyword is used to eliminate duplicate rows
‘Irom the query result? o 0
[a] NO DUPLICATE [b] UNIQUE

[¢] DISTINCT [d] all of the above

6. Which of the following is an advantage of views?

- [a] data security [b] derived columns

[c] hiding of complex queries [d] all the above

7. QBE stands for
[b] Queue By Example

[d] Queue By Examinations

[a] Query By Example
[c] Queue By Examinatic’m
8. How many t) pes of cursor are present in SQL Server?
[a] 3 it | [b] 4
B LR R
9. Which of the followmg is a functlon ofa dlstrlbuted DBMS?
[a] Dlstrlbuted query processmg [b] Two-phase comm1t '
[c] Client Server -~ = | [d] Rehablhty
IO The expansmn of EIS is : Ly |
[a] Execu‘uve Informatlon system ‘.[-b]iExec}lte ‘Inf_ormatio_n System

[c] Executlve Innovatlve System G ‘[d]n‘ExanAlpl‘é Ilmo_vative System

SECTION gl ~ [5X7=39]
Answer ALL the Questlons - - ,

11 a) ’Write, the advantages of havmg the data in a database.
' [OR] |

b) What are the characteristics of data in a/databasé‘?\
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12. a) Examine the E-R Modeling symbols for the different modeling styles.
[OR]

b) Discuss the Second Normal Form with examples.

13..a) What are Data Manipulation Commands? Explain with examples.
[OR]
b) How will you create a Table and insert rows in table? Explain with
examples.

14. a) Write about PL/SQL blocks in DBMS.
~ [OR]
b) Explam in detail about conditional control statement with syntax and
example. e -

~ 15. a) Explain the concept of Mobile Databases
[OR]
b) Write in deta1l about Intemet of thmgs

| SECTION C - [3X10=30]
Answer any THREE Questlons

%

16. Explam in deta11 about h1erarch1cal model and network model
17. erte in detail about Boyce Codd Normal Form |

18. Wnte about SQL data types. with examples |
-19. What i is a Cursor? Explam in detall about Exp11c1t cursor.

-

20. DISCUSS the concept of Spatlal databases.

|
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SECTION - A [10 X 1 = 10]

1o -

I

Answer ALL the Questions.
Choose the Correct Answer.

The Consignee sells the goods sent on consignment at the risk of the

[a] Customer | ~[b] Hiﬁiscll'
[c] Consigner AT [dj Both the parties
The abnormal loss on Conmgnment is credited to
[a] Consignment A/C [b] Plohl & loss A/C
[c] Consignee’s A/C -. i ». [d] Conslonor A/C
The relationship between Co - VClltUICS s
| [a] Debtor——Cnedltor E [b] Partners
[c] Céx’lsignor - consi'gneé. R [d] P‘ri‘ncipal —agent .
Joint venture accoimti; a ' v SRR
[a] Nominal A/c ; ~[b] Pérsorgal A/C' &
e Real A/C 5 c Tt o i) Asset A/C

i
g

G Scanned with OKEN Scanner



! iy (;rt:(_lil from 0f
AL astatement i the tedper aceoupt from (he.) debit and o
_\, DRI B Y ] J i e 3 co ,- ( i N '/ )('{l"
the mutual dealings between the two parties during a given |

H 4 : [4] ’ ’ L) 1
bank Reconciliation statement
fprinal cost statement |b] Bank Re
fa] Marpinal cost staten
le] Account Current [d] None of the above
O At

0. Account current as prepared by

[ & banker to the Customer [b] a creditor 1o a debtos
el adebtor to a ereditor [d] all the above
N . [ 2 ¢ 4 ra p ‘ ".;" . ‘ .Ic (]
Under method of depreciation we can write down an assct to zero

at the end it working life,
[a] Written down value ' |b] Sinking fund

[¢] Straight line |d] None of the above

8. Original cost Ul::l machine Rs. 3,000. Scrap value at the cnd.of:S years Rs,
200, The amount of depreciation p.a. 1l straight line method is follow as
[a] Rs. 500 [b] Rs. 1,200
Je] Rs. 3,500 ~[d] Rs. 700
9,

No adjustment for outstanding

CXpenses, prepaid expenses provision for
- doubtful debts, ete are made in

[a] Income & expenditure account [b] Profit & Loss account

[¢] Receipts & Paymients accounts [d] None of the above

10. . Legacy is a

_la] Capital receipt [b] Revenue Receipt-
[c] an expense {d] a revenue income

SECTION-B ' -

‘ Answer ALL the Qucstions. ‘

l1. a) Sayee sends 400 kilos of edible oi] at Rs 40
and Insurance amounted to Rs. 500. On the

5X7=35

per kilo to Sekar. | reight
way, 20 kilos oil were

et
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| sekar took delivery of the consignment and spent 185, 1900 for

.\'[\nilu
In addition he also spent Rs.20000 as

octet and carriage inwards,
FCCUITING CXPCNSes.

You are required (o caleulate the value of abnorn 1 logs and
ansold stoek at the end, i Sekar sells 300 kilos of oil.

®

[OR]

b) Ramji consigns to Sarathy 80 cascs of goods at cost ol Rs. .’)ﬁ()""pur
case and incurs the following expenses in connection with the same.
Cartage and Freight Rs, 600 and insurance Rs. 1,400. .On arrived of
the poods, Sarathy pays cleaning charges and carlage Rs. 400 and
storage charges Rs. 200, 60 cases are sold for Rs. 20, 000. He 1s
entitled to a commission of 10%. He sends to Ramji an account sales
‘and a bank draft for the balance due. The'market price at Sarathy’s
place falls to Rs. 270 on the accounting date, Calculate the value of

unsold stock.

12. a) B.V and S entered into a |oml venture of a (,ontmu Rs. 1,00,000 is the

- contract price Rs.40,000, Rs. 20,000 and Rs. 20,000 were invested by

B.V & S respectively and a joint Bank account was opened they
purchased materials for Rs. 60,000 architect fees of Rs. 1,000 was paid

by B, V paid for sundry L\pemcs Rs. 2,000 and S pcud ]{s 4, 000 for

cement. |
The contract was duly ¢ mled out All the. transactions were done

through ]oml Bank account. Give lcdﬂm acct)unts

.

or] - R e
b) A and B entered into a joint venture with a profit sharing ratio of 4: 1. :
‘A" Supplied goods. worth Rs. 10,000 and incurred expenses Rs. 800.

‘B’ supplied goods worth Rs. 8,000 and spent Rs. 600 for expenses.
‘B’ sold all the goods for Rs. 24,000 for which he is entitled for a

commission at 5% on sales. ‘B’ settled the account by cheque. Prepare
joint ventune a/c and B s account m the books of A’ g

3. a) Find out the aver aga due ddtc. of the iollowm;, bills acceptcd byatr adu
~who wishes to sutlt. them with onc Sm”lc p‘\)mcnt :

T
-n;-
o

-
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Date of bill | Amount of bill Due date

01- 4-90 | 800 |  06-6-90 |
30-4-90 | 1000 | 03-890 .
" 03-6-9 | 400 | 06-7-90
T15-6-90 | 600 | 18-9-90
[OR]

b) Prepare account currenf for Nagesh in respect to the following

transactions with Basha:

1994 Rs.

Sep 16 Goods sold to Basha 400 (due 1% Oct)
‘Oct 1 Cash received from Basha ' 180

Oct 21 Goods purchased from Basha 1,000 ((due 1*'dec)
‘Nov 1 Paid to Basha . - - 7660

Dec1 PaidtoBasha . - 600

Dec 5 Goods pUrchased f‘rom Basha. 1,000 (due 1* Jan)
Dec 10 Goods purchased from Basha -~ 440 (due 1*'Jan) -
1995 ey O |

Janl PaidtoBasha . 1200 |
Jan9  Goods sold to Basha . 40(due 1 Feb)

The account is to be prepared up to 1* Feb. Cal_culaté interest
@ 6% p.a iyt by ;

14. a) What are the causes of Depreciation?

' [OR]

b) What are necessity for providing Depreciation?

15. a) Difference between Receipts and payment. A/C -and Income and
. Expenditure A/C. .~ - - » iR
= s e L TORT:

~ b) From the following details ascertain the amount of »sut}scripti'ons to

~ be credited to income and expenditure account for the year 1999

- subscription received in 1999 Rs. 48,000 which include Rs. 4,000
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RICTION - € (4% 10 = 30 |

Answer any THIEE l)mnnum
2000 funyg costing

oo M of N Malid, consipns o Wapesh of yellore
000 G

P PHO cnclioat invaiee price of e, 200 e fan aned pays 1
fedpht s 600 on insiance and s, 1,200 ws other expenses, Ramesh
peanite Ha 100000 wy advance by 2 mamllr bill, Jamesh spends 125,400
ot octron, e 400 on fonding snd unlonding chiarges and 125.2,000 on rent
and other expenses, He sells 1,200 fans ot 125, 200 each on credit and 400
fans at B 2500 eueh, oo Tor eash, Ramesh remits the
balance due by w bank deaft afier deducting his ordipary commission at
Waand del credere commission at 1%, 'The consignee incurs 4 bad debt
ol W 600, You are required (o pags journal entrics and show the
inportant ledger aecount in the books of hoth the parties,

7. Vijay and Beamgi entered into a joint venture (o sell timber, They agreed to
share the profitand losses eqimlly, Vijay provided timber from stock at a
nmmxlly apreed value of 1y, 5,000, He paid expenses amounting 1o
250, amji incurred further expenses on cartage and storage of Rs. 650
and received cash from sules 125, 3,000, He also took over to the value of
., 1,000 for his use in his own business, At the close Vijay took over the
balance of stock in hand which is valued at Rs, 1,100,

Prepare joint venture aceount and ¢o — venture’s aceount in the books of
Vijay, |
!
A8 The following transactions took place between Ram and Krishna from
=190 10 30 - 6= 90),

1990 | Rs
Jan 1 Sold goods 1o Ram SR 2940
Jun 10 Received Ram's acceptance at 2 months 1,000
Jan 15 Received cash from Ram © 1,200
Mar 2 Bought poods from Ram ' 5500
Mird Aceepted Ram'y bill at 1 month v 2000
/‘w' 1 Paid eashi 1o Jam %2000

5 - ! |
nl.Q;.' 4
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Prepare the account current to be sent by Krmhna on 30th
Y]

rate of mlc.resl 15 5%

sold goods to Ram pdyabl

M ty H1Bought goods from Ram
May 31 Sold goods to Ram pa

June 15 Bought goods from R

e up to 31% may 2,400
1,500

yable up to 10 June 2,200
am

3 OOO

june 1990 The

19. A company who‘;e aecountnng year is the calendar year. Purchased on 1

~ 1- 93 a machine for Rs. 40,000. It
Oct 1993 for Rs. 20, 000 and on 1*
1995, 1/4™ of the machinery

was sold for Rs. 6,800

purchased further machinéry on 1*

July 1994 for Rs. 10,000. On 1 — 7 —

lnstalled onl-1- 1993 became obsolete and

Show how the machinery account. would appear in- the books the :

company for all the 3-- years under Diminishing balance method.
Depreciation is to be prov1ded at 10% pa. -

20. The f ollowmg 1s the Recelpts and Payments Alc of De1h1 football '
Association for 1he first year ending 31% Dec 1987 s

Receipts ”&.Payments AlG: o ‘
[ Receipts - Rs Payments - Rs
To Donation | 50,000 | By Pavilion office. - 40,000 |
To Reserve fund ( life " | - (constructed) N g
membership fees and | By Expenses in connection o i
entrancefees received) |, 4,000 with matches . 900
To Receipts from footba]l e By Furniture - 2,100
matches , 8,000 | By Investment at cost 16,000
Revenue Receipts: = - ' Revenue Payments: i -
To Subscriptions | 5,200 | “By Sabries 1,800 |
To Locker Rents - 50| By Wages 600 |
- To Interest on securities 240 By Insurance ) -~ 350 |
To Sundnes i 413504 By Telephone - 250
el - | ByElectricity - 110 |
|+ By Sundry expenses 210
; , _By Balance on hand 5,520
67,840 | 67,840

—
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Additional information: 1987 arc
(i) Subscriptions outstanding for 170
(ii) Salaries unpaid for 1987 are RSéO |
(iii) Wages unpaid for 1987 are RS- o5 i
(1v) Outstanding bill for Sundry CXPen_S lised.
(v) Donations received have to be capitail

L Expen
Prepare from the details given above an In(:OI_Ile ?ndce ghee
~ for the year ended 31-12-1987 and the . Balan
© Association as on that'date. " ‘

Rs.40

diture A/C
t of the

Y
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' , SECTION A
Answer ALL the Questlons

Choose the Correct Answer. -
not gwen 1nterest on

es.of W1thdrawals of partners ¢ are

lated for months

1. When the dat
[b] 7 months

drawings is calcu

- [a] > rnonths Lo
[d] 6 months

[c] 8 months
1s necessary

7. Under fixed caprtal rnethod | _ '
| [b] Sala‘ry of the partners

[a] Cap1ta1 of the partners

n of the partners [d] Drawmg of the partners

[c] Commlssro

-~

LI

" Good will is e | |
: [b] real account

[c] personal account 0 s [d] proﬁt and loss account
4. .Old proﬁt sharing ratro mrnus new proﬁt sharlng ratio is equal to _ﬂ_’_ |
e [a] Sacnﬁcmg ratlo ' | o] Gammg ratro T |
" ' [d] Equal fatios et o Rt
goodwﬂl of the ﬁrm |

(2] nominal account

4 [c] Capital ratio '
5:A retlnng partner is entltled to hrs share in the
.as per the ' Sl e
[a] Agreement between the partners

[b] proﬁt sharlng ratto a £y

[c] sacnﬁcmcr rat1o [d] gammo ratlo

1"'—1

sz : o | -

@ Scanned with OKEN Scanner



6. Joint life policy account is

[a] nominal account [b] an asset account
[c] personal account [d] capital account
7. On amalgamation, assets and liabilities of vendor firm are transferred
l(.) PR
|a] realisation account [b] revaluation account
[c] capital account [d] new firm account
8. The ___ firmis dissolved on amalgamation.
[a] vendor | [b] registered
[c] purchaqing [d] not reglstered

‘9. Proportionate capual method is otheerse called as
[a] relative capltal method gl [b] balance method

[c] maximum loss method ; [d] normal method

10. General reserve appearmg at the tlme of dissolution of a firm is
transferred to y ;

-[a] capital a/c of the paiftnérs" ; 1w 5fb] revaluatibn a/c
[c] realisation alc R [d] proﬁt and loss account
SECTION +B : [5 X7= 35]

Answer ALL the Questions:

11. a) Prepare capital account of partners Karthlk and Ashok assuming
that the accounts are fluctuating:

| - Particulars - Karthik | Ashok
Capital on 1.1.2009 - 4,00,000 1 3,50.000
Drawings during of the year 70,000 | 40,000
Interest on capital Ty g 6% 6%
| Interest on drawings =~ - 4500 2200
~ | Profit share of the year R 17,000 14,000
| Salary | 23,000 -
Commission i '='s - 10,000
e [OR] | '
L9
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b) Mr.X & Mr.Y are partrers sharmg proﬁts in the ratio of 2:1 and as from
1™ January 1995 “they admit Mr.Z who is to have {/10"™ share of profits
- with a guaranteed minimum of Rs.32000. Mr. X & Mr.Y continue to
~ share profits as before. The profits of the firm in respect of the year is -
Rs.2,00,000. Prepare Profit & L.oss appropriation acc Ount ,

, 12 a) Prem and Chandra share profits in the ratio of 7 3. Rama.was-
' - admitted as a partner. Prem surrendered 1/7 of his share and Chandra
- 1/3 of his share in favour of Rama Calculate New Profit sharing Ratio.
| [OR]

'b) Aand B were partners sharmg profits in the ratio of 7:3.. In view

of C’s admission, they decndéd to revalue thelr assets and liabilities

below: '
1) The value of land and bulldlngs was to be mcreased by Rs. 3000( )
2) To bring into record at Rs 5000 investrpents which have not so for

being breught into account -

3) To decrease stock by Rs. 3000 and ﬁjrmture by Rs. 1500
4) A prowsmn for Outstandlng expenses ‘was to.be created for Rs.500

Prepare. Revaluatmn Account

13.2) Sekar, Sakir, and Samxr are partners sharmg proﬁts in the ratm of 4: 3 Z
Mr.Sakir retires from the ﬁrm -Sekar, Sakir agree to share future pI'OTlt:-
in the rat1o of 5: 3 Fmd out the Ga,lmng Ratio: - 4 |

- [OR] |

b) 1arget Lwe and Success 'were: partners sharmg proﬁts in the
proportion of 4:3:2 respectwely Thelr balance sheet as at 31" mareh

2007 respectlvely
L‘iabil,ities; "1 Rs.. [ UAssets | Rs.

| (;apltal R RS [ Goodwill | 12,000.
Target - 60,000 | Other Assets . | 1,88,000
Live' 50,000 ot s

- . Success' 40,000

; Other llabllmes pa 75)('),00()‘ IERY I

gl 2,00,0007 2 oo ooo %
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Target retired on 1.4. 2007 on which date the goodwdl of the firm was |
estimated at Rs.21,000.

Give the Journal entries & prepare new balance sheet of the ﬁrm

r

- 14. a) Give |mpnrmm Journal entries to close the books ()fdmalgjamatmg
firms and open the books of new firm.

[OR]

-b) Fatima , Sara, and Mary share profits in the ratio of 4:3:2. They have

decided to. sell their firm to a limited company on June 30,2007.
Their balance sheet on that date was as under:

~

Liabilities Rs. |~ Assets . Rs.
Capital: [ QT Land and building 19,000
- Fatima | 20,000 | Machinery _ 13,000
Sara |-/ 15,000° | Debtors - 12,000
- Mary - -] ‘11,000 {-Stock 17,000 | |
Creditors - . 17'000_"‘ | Cash .- S . 2,000
63 ooo*‘.' SR 63,000

Purchase con51derat10n agreed upon was‘“Rs 55,000.
company has paid Rs.41 ,250 in: lts

Give the Joumal entnes

Of this the |
own shares ‘and the balance 1n cash.

15, a) Frck)m the followin,
Method;

Capltal of partners: Amir- Rs. 20 000; Balan — R, 10 000
Profit sharing ratio: 3:2
- : [- mstallment(cash‘) Rs. S, OOO
' II - installment (cash) Ks. 4,000
[II - installment ( cash) Rs. 2,000

g, dlstrlbute cash under Proportlonate Capltal

[0Rl _

i
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. P . :\ :
b) The following was the balance sheet of Radha, Krishna and Sankar as
on 31.12.2G03. : :

| “Liabilities | Rs. | Assets [ Rs. ]
~apital: ‘ | “Good will 13,000
mRadha | 20,000 | Machinery 25.000
Krishna | 15,000 | Debtors | 9,500
, - Sankar 10,000 | Stock ; 11,000
Creditors | 12,000 | Cash ! ,500’
General Reserve 3,000 |.
60,000 | 60,000

On the above date the firm was dlssolved ’Ihe assets realized
. Rs.50,000. The creditors were settled. at Rs.11,500. Dissolution

expenses amounted to Rs. 1,000. ‘The partners had 3:2:1 as their profit
- sharing ratio. , | « ‘
Give the necessary Joumal Entnes

SECTION CoH ;3-x110=301
Answer any THREE Questions. |

16. The capital of Mr. A & Mr B stood at Rs. SOOUO & Rs 30000
respectively. It was subséquently ascertained that 5% interest on capital
‘and drawings was omitted. - The Drawings -of the partners had been Mr.
A Rs.1200 drawn at the end of each quarter & Mr. B Rs.1800 drawn ai
the end of each half year. The profit for the year adjusted to Rs.20000.
The partner share of profits in.the ratio of Mr A3/5: MrB2/5.

Show the adjusted caprtal accounts ef the partners o

Mrs Ashwatha and Mr. Dl.kShlt are partners sharing profits in the ratic of
%4 : Y4 . Their balance sheet as at 31 12 2004 stood as under:

_ Liabilities | Rs. | . Assets- - . -Rs.
Capital: - T ' Bills Receivable | 3,000
 Aswatha | ;30,000 . | Debtors - | 16,000
- Dikshit .| 16,000 |Stock. | 20,000
* Creditors | 37,500 | Cashatbank - -~ 22.500
| General Reserve | .4000° | Furniture - otk '1 ,000
| ittt b Land & Building - | 25,000
| 875007 87,500
e Yy
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w
\ s ‘?35/ on 1.1.2005 they admit Mrs. Shivanya as a new partner on the
| -~ Alowing Arrangement; T Ry :

1. Mirs. Shivanya brings Rs.10,000 as his capital for a 1/5™ share

2. Goodwill raised in the books at Rs.20,000 S

3. Stock and Furniture be depreciated by 10 % & a reserve of 5% on

debtors for doubtful debts created |

4. Building appreciated by 20 % . p

. The capital account of the partners be readjusted on the basis of
the profit sharing arrangement and additional entries aré made
through the current account. Prepare the Revaluation Account,
Partners Capital Account, Current Account and Balance sheet.

(]

' 1:8‘.‘.Lraxman' and Hari were ‘eQﬁél:’ partners ina 'p'art_nership; Laxman decided
to retire from business on 31-3-2002 and his son-Chakrapani ‘was to be

admitted with 1/3 share in profits. = *
The Balance sheet as on 31-12-2002.

Liabilities /| "Rs." |~ Assets ~ | "Rs. .
Capital: SR L Bankt < | . 11,000

| Laxman - [. 34,000 | Debtors - - 16,100
Hari /28,200 | Plant - 14,200

| Creditors | - 9,800 | Building -- 20,706
e | 1 Good will - 10,000

| 720000 72,000

On that date goodwill was valued at Rs.27,000 and building at
Rs24,000. It was agreed that enough money should be introduced to
- enable Laxman to be paid otit-and to leave Rs.10,000 as working capital.
- Hari and Chdkrapani were. to 'p_r'o'v"‘idel such sums as would make their
- capitals proportionate to their share f profits. Laxman agreed to provide
~half of the capital which Chakrapani had to-provide. Prepare necessary,
- accounts and prepare Balance Sheet of the Hari and Chakrapani. . - '

bt = T

LRGE
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19. I, J,”& Kt share PT a5
~ their firm 10 ABC 1Ad-s o

sheet was: g

Mr. K - 13000
Creditors .

‘ ~ ollo
take over the assets after the f()()()" Debtors.

Properties Rs.22000 ; Machifier Rs. 17507 o
Stock -Rs. 12000 AR S - a5 folloWS-
Goodwill — Rs. 4000. Company s Semememihe balance is P
Rs.33000 in shares of each Rs. 10 face value anc == :
T A RER L '
v Give the necessary ledger accounts-in the books of the ﬁrm K
20 Pavi, Siddhu, Sriram were ‘partners sharing profits and losses 11 the rat10
of 2:2:1. The partnership was dissolved on 31-12-2004 and their balance

Company
aid

- sheet on that date was follows. .~ pesy
Liabilites | Rs. Assets | Rs
Capital: e .| Cashinhand 2.000
Mr. Pavi -1 16,000 | Other Assets - ’
Mr. Siddhu - - 10,000 | -
Mr. Sriram |- 3,000
Profit and loss account . | 5,000
| Creditors ‘ 6,000
| 40,000 |

The assets were realized gradually:
1. Rs.10,000 was received in Ihs-talimem

2. Rs.10,000 was received in II Installmé,m‘

3. Rs.13,000 was received in I1I ‘InSteill_mem, Sl %
was distributed under Maximum Logg Met] ?OW ho the Cag)
| 10d, ash
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. Time : 10.00 a.m to 1.00 pm
 Max Marks : 75 S

END SEMESTER E

ngrixmmé -B.Com - -
Course Code : 17UHMS21

Course Title : Hotel Accounting
. - SECTION-A - [10X 1= 10]
| - Answer ALL the Questions. e
. o ‘Choose the Correct Answer.-
1. The owner of the business is called’:‘\ 4
[a] Banker ‘ [b] Book Keeper ©
[c] Businessman - © [d]Proprietor
2. Assets minus Liabilities gt i e
LT .~ [b] Capital

[a] Drawings.

. [c] Credit

P)

[a] Ledger -
[c] Balance Sh_e.éf ]

4. Every business transaction has

is a book of origi}lal entry. =

[d] Profit
©[b) Jounal
. [d] Trial Balance

- aspects..

[a] {de . »
[c] Four

[b] Three
- [d] Five
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Credit sales are reCOfded in // [b] CaSh bOOk

[a] Sales book 4 purchase retllm
[c] Sales return book |
6. Purchase book is kept to 1ecord _”/
N - [b] all credit purchases

[a] all purchases

%

[d] all the above -

[c] all cash Purchases

7. ‘Goodwill is an éxample of | ‘

[a] current assets . R [b]’tangible, assets*
V[c]v fixed assets g [d] an intangibl-é assets
8. Balance s'heet".is a , | oy
. | ; ’[b] asset .

[a]\accourit‘ R Ty Filen:
[c] liability AR R i [d] statement

9. ,BOT stands for : : :

[a] Basket: Order Tlcket . = S [b] Bar ‘Ord'er‘:ficket
[c] Bar Open Time | [d] Buffer Order Time
10, il is legally declared 1nab111ty or orgamzatlon to pay its credltors ‘
| [a] Bankruptey [b] Billing |
[c] Baddebts = ~ [d] Allthe above.
| ~ SECTIONQB ' [5x7 35]

g0 | . Answer ALL the Questions.
~11.a) What is'meant by Accounting?

; [OR]: .

b) What are the Ob_]eCtIVGS of Account1ng‘7
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12. a2) Define .lmn‘n:ll.
, [OR]

b) Journalise the following transactions.

hd

i Commenced business with cash 5.00,000
ii. Purchased furniture for cash 20,000
iii. Bought from Sunil ' 13,000
iv. Sold to Banerjee 16,000
v. Cash withdrawn from Bank 25,000
vi. Electricity bills paid 1,000
: 12,000

vii. Purchase of goods for cash
13. a) Give the reasons for mamtamlnv the sub81d1a1y books

i [OrR]‘ 4
b) How to maintain the-cash bo‘ok and explain the cash-book format.
14. a) Difference between‘\ Profit.and i;oss accotint and Balance Sheet.

_b) From the following balances exhacted at the close of the year ended
31 March 2018, Prepale Proﬁt & Loss account of M/S Ashok and

Son.
Particulars e Particulars | | oz
Gross Profit -~ . A 1 01 OOO Discount (Dr.) A | 500
Carriage Outward 2,500 | Apprentice Premium (cr.) | 1,500 |
Salaries . | 75,500 | Printing and Stationery - 250
Rent | 4,100 | Rates and Taxes v o350
Fire Insurance Premlum 900 | Travelling Expenses 200
Bad Debts T 2,100 | Sundry Trade Expenses . 300
Income Tax Paid 3,500 Rent recelved on . sub | 1,000 |
| ) 1 letting SR |
Life Insurance Prermum 53, OOO

15, a) What are the various types of ledgers mamtalned in hotels‘7 e
by [OR] ' |
b) Dlscuss some common opcratmg Ratlos in hotél' aCunnting.

T o -3-

iy

"’ .
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SECTION-C  ‘[3X10=30] _
Answcr any THREE Questlons o

16. Describe the concepts and conventions in Aecnuntmgs

17. Prepare Ledger accounts from the Iol]()wmp tmmdetmns in the books of

Imran. ‘ : -
2018 . <

- June 1 Started business with cash 45,000
1 Paid into bank | 25,000

2 Goods purchased for cash 15,000

3 Purchase of furniture and payment by cheque 5,000

5 Sold goods forcash . - : 8,500

8 Sold goods to Arvind Walia E 4,000

10 Goods purchased from Amntlal - 250 7,000
12 Goods returned to Amntlal i . 1,000

15 Goods retumed by Arvmd Waha nk T 200

18 The followmg Tnal Balance has been prepared wrongly You are asked to
Prepare the Trlal Balance Correctly : -

| Name of the Account Debit T Cr’edit T
CashinHand "% o a 5 2,000
| Purchase Returns =~~~ 4,000 -
- | Wages i | 8000 | -
| Establishment Expenses o1 12,000 | -
"Sales Returns L - 8,000
Capital . 0 T 22,000 | 0 -
- Carriage Outward UL SR 2,000
Discount Received - 1,200 -
Commission Earned s 800 -
| Machinery e 20,000 | . .
_ Stock 70t ' - | e n I0,000 o e
| Debtors 8,000 o cF a L e
Creditors T & ) - . _12,000‘ '
-4:
' .,
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~ - | 44,000
gali;asés T "58 000 -
Bl;lk Overdraft o J 14 000. RIS
Manufacturing Expenses | - | 14,000

| Loan from Ashok 14 000 | -

‘| Carriage Inward 1,000 - i
nterest on Investments 5 1,000
Total : 1,13,000 | 1,13,000

19. The following balances are extracted from the books of samy and
company on 31% March 2018. You are required to make the tradmg profit
and loss account and Balance sheet on that date. ‘

Particulars T | Particulqrg T
Opemng Stock ‘ ~_ 500 | Commission (Cr.) - 200
BillsReceivable | 2,250 | Returns Outwards | 250
Purchases - 19,500 | Trade Expenses . 100
Wages | 1,400 | Office Expenses ~-500 |
Insurance- : 350 | CashinHand 250
Sundry Debtors - 15 ,000 | Cash at Bank .~ | 2,375

_Carriage Inward 400 | Rent and Taxes . 550
Commission (Dr.) - ? ~ 400 | Carriage Outwards 725
Interest on Capital - 350 | Sales | 25,000
Stationery . | . 225 [ Bills Payable ~ | 1,500
Return Inwards | 650 | Creditors -l 9,825
| | - | Capital | 8950 -

~ Closing Stock wasj valued at ¥ 12,500.

20 Discuss about the Hotel Depar’tr_nent‘s.

)
[ &
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Programme ! B.Com.

" Course Code : 17UCOA11

Course Title : Managerial Economics

Time : 2.00 p.m to 5.00 p.m
Max Marks : 75

o

SECTION - A

Answer ALL the Questions.
~ Choose the Best Answer. |

Manageriél econo_imics is p'u_r('z,ly_'af |
(a] Positive -
' [c] Physical
Profit is the ;_diffcrér.lc.e betﬁ&éen;
I TR acd 1O -
] ARand MR

 [10X1=10]

s¢ience..

s [b] Nérmativg _

: [d] Sdcial ‘

" [b] MR and MC-
. [d] P=MR-MC

method of measuring elasticity of demand is also known as

geometric method.

[a] Point

[c] Total outlay

~ The law of demand is baséd on the law of |

- [a] Elasticity of Demand
- [b] Law of substitution
~[c] Consumier’s surplus
[d] Law of Diminishing Margina

Foos’

[b] Percentage |

[d] Arc

| Utility

reonie]
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5. A new product is outgrowth of existing product is explained by
approach |

_[a] Evolutionary ' [b] Growth curve

[c] Vicarious ’ [d] Substitution . .
6. ~_is commonly used by firms for long term demand forecasting
‘ [a] Survey method | [b] Marketing approac
[c] Vicarious approach | [d] Statistical method ’
7. Price discrimination is-successfu] only in | market
[a] Perfect competitive o [b] Monppolistic )
[c] Mpnopoly B o [d] All of these

8. There is no barrier to entry or exit from industry is one of the,features of

[a] Oligopoly . T [b] Duopoly
_ [c] Perfect Competition e 2 1 [d] None of these
9. At the Break Eve‘ﬁ Point,' ‘ B, , |
[a] MR=MC L TH] TRETC
[JMR<MC =~ *  ~ [ [d]TR>TC
10. ; réfers to theﬂeX’tgnft to whiéh'a firm can afford' a déélin’é before 1t
- starts incurring loss. .. e B
© [a] Safety Margin -+ [b]Contribution Margin
[c] Profit ‘M'argin oy RN sl [d],Balaﬁcé sheet ‘ |
S ~ SECTION-B . T [5X7=35]

- AnsWer ALL the Questions.
11: a) Describe the nature of managerial economics. -
| [OR]

b) Bring out the objectives of fnodern‘ business firm.

RN e Ty
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14.

"
I

'16.
17.
18.
19.

") Enumerate the determinants of demand.

[OR]

b) List out the uses of elasticity of demand.

_ ) What are the criteria of good demand forecasting?

|OR]

b) Discuss the different methods of demand forecasting for a new

product.
a) State the features of monopoly competition.

[OR]

b) Briefly explain the different methods of pricing.

. a) Describe the managerial uses of break even analysis. -

[OR]

b) What do ;vou understand by prokﬁt? Bring out its nature..

SECTION-C [3X10=30]
Answer Any THREE Questions. - . :
Discuss the role and ‘responsibi‘lities of managé'rial economist. | _ <
Briefly explain the different types of elasticity of d.emand.»\
Examine the various factors inﬂuencing the demand forecéstin'g

Ilustrate how prices and output dec151on are taken under perfect
competition. :

. Bring out the methods of proﬁt forecastlng W1th su1tab1e examples

G Scanned with OKEN Scanner



57 @.T.N. ARTS COLLEGE (AUTONOMOUS)

0
EM , (Affiliated 1o Madurai Kamaraj University)
Mama " (ccredited by NAAC with ‘B Grade)

ER EXAMINATION - APRIL 2019
Date @ 9-5-2019
Time ¢ 10.00 a.m to 1.00 p.m

END SEMEST

Programme : B.Com

Course Code : 17UCOA21

Course Title : Eeonomic Development of India Max Marks : 75 |

SECTION - A (10 X 1 =10]
Answer ALL the Questions. .
‘Choose the Best Answer.

{. Indian Economy is\mosl,apprOpriately deScribedA asa | -
[a] Socialist Economy ' . [b] Capitalis? Economy

(c] Mixed Economy ~ [d] Closed Economy

2. The inflow of _ is indisvpe‘r;.,l'sable‘ for acceleration of economic
development ey | AR
[a] Domestic Capital a i ﬁ - A . [b] Foreign Capital
[c] Human Capital S Jy . [d] Luxury goods
3. Agricultural pgoductiyity' in India is very low in India due to
[a] Poor rainfall =~ ~© [b] Small size of land holdings
[c] Use of traditional technology ~ [d] Allof these
4, price 18 announced by the GovemihéntWéll in advance of the sowing
‘season. | 5 St i . D
[a] Procurement PR R T AR [V Minirhilm Support .
- [c] Export 43 ' S ] Maximum
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(Vs

The objective of the 11

11.

1dustrial policy of 1991 is to | | A
|b] lo remove the defects

la] Extend the I‘mncﬁts alrcady achicved
1c,‘] To improve employment avenues [d] All of these
privatisation of public sector undertaking 10 India will g0 against the
1ccq§i_cd goal of
[a] Capitalism [b] Socialism
[c] Secularism | [d] Federalism
Commercial banks 1n India were nationalized in theyear
[a] 1935 | [b] 1947
<] 1969 [d] 1982
factors are hlnderlng Indla S export
[a] Inadequate exportable surplus [b] Problem of quahty control
[c] Severe Competmon it - [d] All of these
9. Annual plan was ﬁrst 1mp1enﬁented in Indla durmg P
(e 195865 o i e b 1962-65
[c] 1966-69 T [d11982:85
10. Indla S Planmng Comm1ssmn was renamed as Nithi /;ayog
by Prlme Mmlster SR ' ; , - |
[a] Narendra MOdl AL T [b] Manmoh;ln Singh
(o] Atal Bihari Vajpayee (4] Indra Gandhi
SECTION-B (5X7=35]

Answer ALL »the Questmns o

a) Explam the character1st1cs of Indlan Econorny

[OR]

. b) E_xplain the importance of capltal formation. -
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16.
17.
8.
19.
20.

13.

14.

a) Bnngj out lhc causces for low agricultural productivity,
JOR]

b) Discuss the benefits of Green Revolution,
a) Critically ovaluate the new industrial Policy 1991,
[OR]
b) Analyse the problems of public scctors in India,
a) What are the functions of the commercial banks?
~ [OR] |
b) Why is the need for foreign trade?

a) Give an account of t_he,objectives of India’s Five Years Planning.

[OR]

b) Define Economic plannmg What are the causes for its fa11ure’7

SECTION-C  [3X10=30]
Answer Any THREE Questlons

Explain the causes for the under development

What 1sethe role of agrlculture in lndlan Economy'7 :

‘Explam the role of MSME in economlc development of India.

Discuss the role of RBI in Indian Economy

Explain the structure and functlomng of N1t1 Aayog
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Programme ! B.Com
Course Code : 17UC()CZZ

Course Title : Business Organization

SECTION - A [10X1=10]'
Answer ALL the Questions. _
Choose the Correct Answer.

| Activities which are concerned with the sale or exchange -of goods and
services with a profit motive are termedas " S ;

[a] Profession " [b] Business

_[d] Process -

B
N

[c] Employmem‘.‘

2. Human nativities can be cl‘ass“iﬁed mto A types.
[a] Two - RA G R g e R
(c] Four i Fve

3. The sinﬁplest form of business bwﬁérs’hip 1sa | ’ ;

[a] Proprietorship ~ [b] bartﬁ'e‘rshi'p“
 [c] corporation - * L | | [d] cdoperative | 4'
4. The maximum number of partners ﬁ)_err,ﬁitt}e;d‘ in banking kbus‘in‘evssii‘s'
7 B o
o e C 10

e~
e

[c] 6
_.1‘_,   _ ‘ , | ,
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are the qccording 10

5 cost and Jabour cost are the primary coets
. mcductive theory- o L
[a] Raw materials - [b] Transport.
[c] Administration . [d] Scllmg
0. _indicates p,eo;,rdphlcal d‘;socmtlon petween the mdustrles
" Con [b] Co-efficient of Locatlon_ a

- [a] Co efficient of linkage e A |
[c] Co-efficient of Materiél Index  [d] Co-efficient of Labour Index

an be adopted by
| [b] old -

[d] small scale -

7. Div1sron of labour € firms.
[a] new
[c] laroe scale

-conoinies enjoyed by all firms In

8. economies, refers toe
-m industry due to increase in output. |
- [a] External - [b] Scale
- [c_l]‘National

[c] Internal

L3

9. IndranRallway isa . e
-[b] Publrc corporatlon '

[a] Government company

[c] Public 11m1ted company " f )[d] Departmental undertakrng

—~

- 10. Public enterpnses were set up w1th the basm purpose of

[a] speedlng up econormc development [b] generate hlgh proﬁts )

[c] to'increase brand i 1mage ST [d] mcreasrng sales

3 SECTION-B  ~ - [sx-7=3'5]
~ Answer ALL the_Questlons. | it o

11. a) Explarn Objectrves of a modern busmess
| T0R]
b) State the essentlal characterlstrcs of busmess
“ 3 2 % 1
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12. a) What are the features of partnership ?
- [OR]
.b) Differentiate between co-operatives and company.
" 13. a) What are the Advantages and disadvantages in pl:mli layout?
| [OR]
b) What are the various economics of large scale business?
14. a) What érc the different types of companies?
- [OR]
- b) Explain.in detail about the memorandum of association?
| 15. a) Write in detail about the industri‘al policy Reselution 1948,
| [OR] -
b) What are the three fold classification of Industries?

SECTION-C [3X10=30]
Answer any THREE Questions. . '
16. Elucidate the quahtles of successful busmessman
17. Explain the features of j Jomt stock compames
18. Explain the factors affectmg the locatlon of 1ndustr1es
19. Discuss briefly 1) quorum 1) mlnutes 111) motlons 1v) resolutions

20. What are the economlc charactenstlcs and problems of pubhc ut111t1e\‘7
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| Course Title

10X 1=10]

SECTION - A
Answer ALL the Questions.
Choose the Correct Answer,

" The sales made during the twelve months ending the date of fire 1s

called as

[a] annual turnover [b] actual turnover’

[c] ) estimated turnover. |d] short salcs

are incurred irrespective of the reduction jn turnover.
[b] Variable expenses

[a] Standing charges

[¢] Semi-variable expenses [d] Direct expenses

The owner of a copyright is called

lad

[a] author [b] landlord

[c] inventor | B [d] royalty

4. When an inventor transfers the sole right to produce an article, it is

calledas = - _
 [b] patent right

[a] copy right
[c] mining right [d] rovalty
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v » ‘ " - o ained.
dpers are maint
5. Under self halancing system ledger -

(b] (reditors
[a] Debtors

“these
|c] General (d] All of

Self--balancing can be introduced in _ L

0. ’ | S
[b] big business concerns

[a] small business '
[¢] both (a) and (b) | [d] sole proprietorship
Selling expenses. selling commission, bad debts and discounts ar¢
allocated to different departments on-the basis of .
| ~ [b] Gross profit

.~ [d] Areaoccupied

~l

[a] Purchases

[c] Sales
8. Advertisement should be drvrded among the different departments on
the basis of ol s : '

[a] Purchases . | [b] Gross proﬁt

[c] Sales R K “If | [d] Area oceupred
9. Instalment purchase is.an agreement of ¥

[a] sale | | [b] h1r1ng .

[c] instalemnt . [‘d]‘mre pt_lrchase '

10. The hrre—purehaser pe .
[a] has the optron to buy the goods e
[b] can refuse to buy the goods !
[c] may stop p meent of further 1nstalments
[d] All of these ‘

o SECTION—B - il wio - [5X T=35)
Answer ALL the Questlons 8 5 ‘_ TR

11 a) A fire occurred at-the premlses of a trader on .)1 5.94 destroym0 a great

part of his goods. His stock at 1. 1.94 was Rs.60,000. The value of stock
salvaged was Rs.13,500. The gross profit on sales was 30% and sales
amounted to Rs.1,53,000 from January to date of fire, whrle for the
‘'same " period - the purehases amounted to Rs 1 03 500 Prepare a
statement of claim.

[OR] A
20n o e

b DRI IR« Rt i, o s
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b) A fire occuned in the premises of X Lid,
destroyed except to the extent of Rs.0.2

ascértain the loss of stock suffered by lhc

S —— - . - sdinass -

= SE—

\Iod\ on l:ﬂl 00 N

UthJ\Lb dunnU 1990

on 10. ]() 01. All stod\s were
00. I'rom the following figures.
company:

I Rs.
140,000
| 1,45.000

Sales during 1990

2.00,000

Stock on 31.12.90 25.000.
Purchases during 1991 upto'the date of fire | 1,52,200
~Sales during 1991 upto date of {ire 1,89,000

12. a) A Company leased ca colhery in. 1-1-92 at a minimum rent of
- Rs.20,000 merging-into a royalty of Rs.1.50 per tone with power to

recoup shortworkings over the first four years of the lease. The output

of the colliery for the first four years was 9,000 tonnes, 12,000 tonnes,

16,000 tonnes and 20 ,000 tonnes, respeotlvely lee Joumal entries in

~ the books of [essee.
‘ [OR]

b) Ravi took a collieryron lease The dead rent was Rs 750 a yeal merging
into royalty of 35 paise per tone of coal raised; with the right to recover
shortworkmgs out of royal‘ues of two subsequent yearsfrom the period "
in which the shortworkings arose. The output raised were :

[ Year . - 1,000 tonnes
1 Year - 1 .500 tonnes
1L Year - 2,500 tonnes -

IV Year
vV Year

-~ 1500 tonnes -

- 1,000 tonnes

4

Give ledger A/c for Landlord and- shmtwoﬂ{mgs in the books of Ra\ 1.

13.a) What are prefelentlal credltors in'the following liabilities of 1mol\ ent
- Bhupesh accordmg to Provincial Insolvency Act.

_ i : ‘ Rs. - .
3 Months salary for 10 Clverks 3,600 |
One month wages of 12 labourers . 1,600 |
s TLSales Tax 4007

22

il
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- Wages of (mn Serve mis 1400

\1!111(\ NIRRT MWWI(J()('

]\/lumupll Tax. L a00

Wagpes B 6,000
) [OR]

b) Mr.Deepak filed his petition for insolvency on 317" December 1994,
The details of outstanding expenses are as follows:
1) Salaries of 8 clerks (@) Rs:150 per month for cach clerk for 3 months
ii) Wages of a labourer for the month of August 1994 Rs.120.
1i1) Wages of 8 1abour01s for the month of September 1994 @RS.110 -
per labourer |
iv) Rent of landlord for the month.of November and December 1994
Rs.800. : :
v) Amount due to the Mun1c1pal1ty for Rs 1 OOO to the incometax
department Rs.2000 and to sales tax department Rs.2,000.
vi) Salaries of two clerks for the month of July 1993 Rs.500 each.

 You are required to find out the amount of preferen‘nal creditors
accordmg to Pre51dency Towns Insolvency Act

_ 14 a) Explam the types of Branches‘7 ‘
i [Cﬂll

b) A Madras head ofﬁce has a branch at Salem to WhICh 0oods are

-invoiced at cost plus 20%. From the following paruculals plepare
Branch Alc in the head office books ,

Goods sent to branch ot 2 2,11,872
| Total Sales LRI | 2,06,400
YV QashiSales' 7 T : .| 1,10,400
Cash received from Branch debtors -} . 88,000
Branch debtors on 1-1-96 s 124,000
Branch stock on 1-1-96 - 7,680 5
‘Branch stock on31-12-96 | 13,440
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s
s
15. a) What are the differences between Hire purchase and Installment
purchase system?
[OR]
b) | , .
| o - ~|[Rs. .
| Hire purchase of the machine 50,000
-Down payvment 10,000
' Four annual instalments, at the end of each year 10,000
Rte of interest 5% p.a. cLo Te T
Calculate the cash prlce of the machme
o " SECTION - s [3XIO=30]

Answer any THREE Questlons

16. A fire occurred i in the premises of Ganesh Flour Ltd., on 1.5.1989. The ,
company had a loss of profit pohcy for Rs.2,40,000. Sales from 1.5.1988
to 30.4.1989 were Rs.20,00,000, the sales from: 1.5.1988 to 31.8.1988 )
being Rs.6,00,000. During the indemnity period, which lasted four
‘months, sales amounted to only Rs.80,000. The company made up with its
accounts to 31° December The proﬁt and Ioss account, for 1988 Is given

below.

e

o ~ Particulars o RE Particulars |  Rs. -
| To Opening stock |7 2,00,000 | By Sales -~ | 19,00,000
* Purchases - | 12,00,000 | “Closing stock | 1,00,000
“ Manufacturing Expenses | ~ 1,34,000 : gl |
“Variahle selling expenses 1,81,000
Fixed expenses i .0 1,45,000
Net profit T 1,40,000 | , |
* 20,00,0000 | 720,00,000 | |
S . . |
LK : 4
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\ company acquired lease of a mine at a minimum rent of Rs 10,000 p.a. |
The royalty was fixed at Re.0.50 per tone. Shortworkings . could be
~recouped within three years following year in Wthh the shortworkm;:s
occur. If there is stoppage of production due to strike in any year, the

minimum rent would be proportionately 1cduccd in regard to the lenoth of
th stoppage.

The output (in tones) of the mine was as follows :

1978 8,000 1981 | 26,000
1979 112,500 1982 | 17,000 (Strike)
1980 21,500 | 1983 » 30,000

During 1982, there was strike lasting for 3 months. Show the necessary
- ledger account for each of the years in the books of the company.

18, What 18 Statement o"f” Affa1rs? -Howhdoews it differ from_ Balahce,‘Sheet‘?

19. The followmg purchases were made by a busmess house ha\ ing three

departments T P
Dept A e 1~-,000 uhits i P
Dept.B i 2,000-units .at a total cost 6f Rs. 1,00,000
De"p‘tC . 400«umts- s R .
~Stocks‘on‘l January Were e
' Dept.A - - 120 units
DeptB '+ ‘80 units
Dept cC - 152 umts |
Saleswere®:: gl | '
| Dept A' S 1020 units at Rs 20 each
DeptB - 1920 units at Rs.22:50 each
Dept.C - 2496 units at Rs. 25 each

The rate of gross proﬁt is same in each case. Prepare Departmental tradmg
account i ‘ ;
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N ( () National Transport Compql?y pu‘rch’ased from Metr()

20. On 1.1.90 Na . ~ach on the hire purchase system. It wag
five trucks costing Rs.40,000 i a 11ediaiely and the balance i‘w\g‘
that Rs.50.000 should be paid - 1mi et R SR i -
nstallments of Rs.60.000 each at the en f) . ct _ t;-{;ck.s Eete O'__M
charees interest @10 % p.a. The buyer deple‘(':la es oK 2 O.?p'é’ .
dimi?iishing balance imethod. The buyer pgud ,c‘ash down and two m_s.talh
but failed to pay the last installment. Consequently.,.the Macro N
epossessed three trucks against the amount due. The“trl‘lck_s repossessed
valued on the basis of 30% depreciation p..q,: on the. written down value
fucks repossessed were sold by Metro Motors for Rs.60,000 after nece
epairs amounting to Rs.10,000. Opén the ‘necessary ledger accounts i
00ks of both the parties. ~. . | - |
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Time : 10,00 a.m to 1.00 p.m
Max Marks © 75 |

I HM & CS
- 17UHMS4]
- Hotel Marketing & Sales

Programmc
Course Code

Coursc Title
- —

SECTION — A (10X 1=10]

Answer ALL the Questions.
Choose the Best Answer.

1. Digital marketing is the same as ..
[a] cross selling [b] door to door marketing
[c] road shows | [d] online marketing

industry has made a special place in the world of

). The
hospitality because India is the most diverse place in world.
[a] hotél | I k [b],hospitality
[c]service | [d] commodities
. | 1‘5 want fo_fspc;ciﬁc product backed by abilrity to pay.
[a]Supply - ~ [b]Demand -
[c]Need | - [d] Want

Desireand
[b] Action
[d] Argument

. AIDA means Awareness, Interest,
[a] Actual '
[c] Advertising .
. | LI, ‘

e
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' | ipmer ocedure to
qtem that consists of people, equipne nt and pi
Aribute marketer,

N, 18 08y |
Cevaluate and dis

pather, sort, analyse
|a] Marketing, communication
[b] Marketing intelligence
|c] Marketing information gystem
|d] Internal marketing information

(acturing, 'url,_v,:.miy.zuinn ihat will not be

6. MIS normally found in @ manu
quitable forthe seelor, |
~ |a] banking ' [b] insurance
] service " [d] agriculture
7. are the material items that the customers are ready to purchasc

for a price.
|a] Service |

[b] Goods
|d] Wants T,

|c] Needs | |
8. is done through branding and paqking. .
[b] Product life style

[a] Product differentiation

[c] Market aggregation o [d] Segment
9. The core product in the hotel industry is it _ |
[a] food . o' ERSA | -1 accommodation
[é] water . X | ~ [d] air ”
10. Communication mix is also called as | _mix.
[a] promotiqﬁ it . ~ [b] brand

[¢] product ¥ ‘ » [d] price
SECTION -B o [5 X 7=35]
Answer ALL the Questions. 5 S

11. a) Mention the key factors that contribute for the Sucééss of hosﬁitaﬁty’

industry. . '
‘ : " [OR]
b) Who are the major participants of organized Sector?
s . : 5 '7 - - ‘ ‘
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12. 2) Why is marketing important in hospitality industry?
.a :
| [OR]

P P ‘e W4 “ : v e iry
b) Explain brictly the basic concep! of ‘Need™ in hospitality industry.

13. a) Define MIS. What Jaracteristics of MIS?

are the ¢l
[OR]

b) What are the managerial uses of MIS in hospitality business”

14. a) Differentiate between goods and services.

[OR]
b) Define product. What are‘ the different layers of prodnct?
15.l a) Describe the varioﬁs sales promotion tools.
. ' . [OR]
b) Define Brandmg What are ‘the essentlals ofa good brandmg in hotel

1ndustry‘7 |
| | SECTION c [3X10=30]
Answer ‘Any THREE Questlons ' ,

16. Explain the contrlbutlon of hospltahty 1ndustry in Indian economy
17. Discuss the role of marketlng ph1losoph1es in hospltahty Industry
18. Explam the major components of marketing 1nformat10n system.
19. ‘State the tourism product Descrlbe its salient features.

20. Describe the may or‘steps in effective cor_nmumcatlon.
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END SEMESTER EXAMINATION _APRIL 2019
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Time : 10.00 a.m to 1.00 p.m
Max Marks : 75
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7
e
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Programme : B.Com.
Course Code : 170C0C43

Course Title : Services Marketing .

 SECTION-A
Answer ALL the Questions.
Choose the Correct Answer.

(10X 1=10]

1. Distinct Charactenstlc of services is

[a] Intangibility - - . [b] Inseparablhty
] Variabﬂity‘ FUSy \__ . -[gi} Perllshablhty,
2. Marketing serv1ces aims at _ : - A
[a] profit makmg through user s sat1sfact10n[b]user s sat1sfact10n
[c] profit makmg j [d] resources utlhzatlon
3. Pricing in serv1ces marketmg is mostly i or1ented
] profit - - i g F AT [b] demand B
el supply . - 5 b [dprestige . ©
4. When customers require a combmatlon of serv1ces in dlfferent sequences,
are quite sultable st puith g
' [a] Line operations - S f[b]:Job Sh,op Operatio.ns
[c ]Intennsetent o‘perat_ior,ls LR ,"'[d] Marketillg variables
s
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& hasenlarged the functional arcas of modern hospitals.
[n] W.T.0 (b] W.1.O -
[¢] W.IHLO [d] LILN.O
6. Indin's present Cabinet Mimster for Health& Family welfare is _—
[#] Narin Lall Nadda [b] Jagat Prakash Nadda
[c] Nithin Gadkan [d] Mrs.Nirmala Sitaraman

7. Persons who are already using the services of Tourism are known as

o users.
[a] potential [b] actual
[¢] occasional [d] habitual |
8. The service reaches the ultimate user in types of distribution. 3
[a] Three [b] Four
[c] Five ' [d] Six )
. | organizations offer the services to the clients with the help of
branch or site offices.
[a] Healthcare - [b] Insurance . 3
[c] Consultancy - [d] Banking
10. mix helps the telecom organizations in informing, sensing and
persuading the users. ' : ‘
[a] Product : [b] Price
[c] Promotion | [d] Place
SECTION -B _ [5X7=35]
Answer ALL the Questions.

[1.a) Explain the need for services marketing.
OR]

b) State the classification of services on the basis of nature of demand
~and supply for the service. |

b
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Reg. N0

concept In ¢
[OR]

r\ {CCS.

a) Explain the people

\\)

'omonnn mix for s¢

b) Eluct idate the pr
~< Of ”fz-pifﬁ’b

. What are the &P
[OR]

] ' ' ia.
tors-leading to the growth of Health care 111 Ind

pj Explain the fac “
es prornotion forTo

14.z) What are the technmues of sal
| [OR]

urism?

b) Write short notes on i) Tour operators

ii) Travel agent
iii) Travel guides '

3ith reoard to consultancy s services.

z) Discuss the s.,zmmtauon of market v
[OR]
otion miX of telecommunication S

?

(W4

I
b) Explain the prom ervice organizations.

SECTION-C [3X10=230]

Answer any THREE Questions.

16. Discuss 1n detarl about the charactenstlcs of serv 1ces.

17. Enumerate the pricing strategies adopted for ser ices. o

18. Expiain the different components of marketm: mix for hospitals.

What do you mean by Tourism- services? Explain the different users of

Tounsm services.
0. Focus on the formulation of the price mix of professmnal service

providers.
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| . 'END SEMESTER EX
Programme : B.Com\. |
Course Code : 17UCOC42

Course Title : Fundamentals of © Max Marks : 75

Entreprepeurship » ~ B
SECTION-A  /[10X1=10]
Answer ALL the Questions. - ]
Choose the Correct Answer. -
‘1. The primary function of entfépféneur isto - Sy |
) " [a] Recruit workers - - [b] Innovai”te ;o

| [c]'.Findhlocati'on of business . ] fPur.chaSe.materials' -

»2. Funds arenotraisedbythé'   .“:"’-""‘.“; : e | |
[a] Entrepférieuf U ~[b] Partner -

| [?] Intrapreneur . R [d] CO,fﬁpany‘

3., Who are the foundation of a-buéipéss?’ g

. '[a] friends : o L [b] ,éqmpeti’tors X i
[c] CuStqmers ik S S [d] GOVemﬁient_ ;
4. The Trade Fair Authbrftj) of India was e"‘sitab_l'i:shéd.i'n- e
e 1975..: it K | _]'[b]'1976_;,' ‘g
Sl 978
iy
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velted into a public limited company under the

5. The IFCI has been con
[b] Partnership Act

[a] Companies Act
_ [d] None of the above.

[c] Income tax Act

6. The head office of SII)RI is situated at o

[a] New Delhi [b] Mumhal
[¢] Lucknow [d]-Pune
7. is the servant of market. |
| ~ [b] Luck

[a] Farnily

[c] Production ' [d] Government

8. SIDO provldes marketing aSSIStance to

[a] Village marketers - b Small scale unlts .

[c] Large scale units [d] 'very big level 1ndustriers
9. The first natronal conference of women entrepreneurs was held at

in 1981. L e

_[ar] NewDelhi, o S : ',”f[b]Mu;nbai
[c] Chennai": S  7 : o [dj Bengaluru' S
,10 What is the main problem of Women entrepreneurs‘7 e
- [a] Famrly ties . . " - . [b] Lack of educatron J
[e] Male domrnated socrety s g [d] all of these
SECTION-B - ' (5X7235]

Answer ALL the Questlons

11 a) Differentiate the Entrepreneur and Manager
[OR]

b) What are the types of Entrepreneurs‘?

17'2-' "
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12. a) What are ﬂle sources of Business ldea?
[OR]
b) Whar are the significance of project report?
13. a) Describe the functions of UTI.
[OR]
b) ‘Khédi and Village Industries Commission® — Explain.
14. a) Defines “Subsidy” and ‘Incentives’. )
| [OR]

-b) What are the differences between State Capltal subsrdy and Central
Government Scheme? s

15. a) Narrate the factors mﬂuencmg the Women Entreprenem
- [OR]

b) Explain the types of women entrepreneurs

e

| SECTION c 13x10 30]
Answer any THREE Questlons h

% 1

- 16. Describe the factors affeetmg Entrepreneunal Growth
~ 17. State the various stages of project formulatlon |

18. Explarn the schemes and financial assmtanee of SIDBI to small scale
industries. |

19 Discuss the Incennves provrded by Government of Taruil Nadu

’)O Enumerate the various problems faced by the women entrepreneurs
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' END SEMESTER EXAMINATION - APRIL 2019

: Prografmrie : B'-.Coin(CA) Datce : 7—5720]‘), |
Course Code : 17U0CCS11 Time : 2.00 p.m to 5.00 p.m .
Course Title : Retail Marketing Max Marks : 75

SECTION - A [10X1=10]
Answer ALL the Questions. ,
Choose the Correct Answer:

1. The term ‘retailer’ is derived from a French word “retailer’ which means

~ [a] Whole of R [b] to éut agaih | | |
[c] A part of Co _  s [d] proportién_'oyf', ‘ 3
2. hassuggested theories of retail iﬁvét'ituti_(‘).r‘lélfphange,' g ’
- [al BTOWﬁ s . | I. L [b] M‘aitvhli:,l.srif o
: [c]v Adam—smitﬁ /w [d]Shukla .
3. The target market is also known as Ol BRI b7
| _[a].Segmerit  ~ '[b] pl’a‘nning‘processv'
[c] Marketing MIX N [d] Retéililfg;
4. SR relates to the numbér fof éétegofiES 1n merchandi'se lina-
] Widh - [b]Depth .. -
. [¢] Both e ) : [d']'NQne':; N ) B
i ! k l".
: -1-
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5. This pricing method in which prices are fixed at premium

[a] Leader pricing . [b] Skinﬂming pricing
[c] Backward pricing [d] Cost-plus pricing

6. The channel in which the manufactures, wholesaler and retailer provide a
chain facility is known as ' |

[a] Extended channel o [b] Limited channel
[c] Direct channel . [d] None of the above
7. Thé SBU’s or products offer good prospects for growth. It is
known a ’
" [a] Stars [b] Question marks
[c] Cash cows | [d] Dogs
8. isa formal system which-pcrmits the exchange of business data
electronically within an organisation.
[a] Internet [b] Intranet
[c] Extranet [d] EDI
2. __is a brand movement to bring about improvement in exchange
relationship.
[a] Consumprism [b] Social responsibility
[c] Ethics , [d] None of the above
10.- . helps retailers and shoppers interact anytime, anywhere.
[a] Signature- capture technology  [b] POS i
[é] EIS . | [d] E- Commerce )
. SECTION - B 5 X 7=35]

- Answer ALL the Questions.
11. a) List out the functions of retailer.
| [OR]

b) Explain: Departmental store with its advantages and disadvantages.

-
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Reg.No: | | | [ | 1

¢ Importance of cust

[OR]

12, ) Explain tl
b) Write short note on Retail Marketing M.
13, ) Discuss the factors

[OR]

b) Write down the types of retail advertising.
2) “Point out the clements of store des

[OR]

14. gn.

b) Narrate the 1ssues

15. a) State the importance of Ethic

[OR]

b) State the factors influencing international retailing.

SECTION-C
Answer any THREE Questions.

16. Enumerate the factors influencing Buying Behaviour.

amer service 1 Retathim

allecting Retail pricing.

ues to be considered in site selection.

al practice in business.

(3X10=30]
AN

17. Narrate the steps involved in Merchandising Management.

18. Briefly explain Retail logistics and Distribution.

19. Discuss the role of Brand in Retail Trade.

20. State the reasons for the evolution of consumerism.

b
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END SEMESTER EXAMINATION - APRIL 2019
Programme B.Com. / B.Com(CA) Date : 15-5-2019
Course Code : 17UCOA31/17TUCCASI Time : 2.00 p.m to 5.00 p.m
Course Title : Business Statistics ~ Max Marks : 75
'SECTION - A (10X 1=10]

Answer ALL the Questions.
Choose the Correct Answer.

]. Statistics is considered as
| [a] An art - . [b]science ‘
[c] management - '[d]«both art and science
2. Bar diagramisa | s , i
[a] One dimensional dlagram : ‘. ; [B] thre"e ail;flénsiorlal diagram
[c] Two dimensional diagram _[d] pictogram |

3. The posxtlonal measure of central tendency is

[a] AM o A S 1) Medlan
[c]GM ' ~ [d] Mode

4. When med1an—14 mean—12 the mode is equal to
[a]2 | w267
(]38 b T L1
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nd Oy is called ———

5 If of the difference hetween Q32 '
2 an [b] inter quartile range

~ [a] Q.D

[c] S.D
6. A distribution is said 1o be symmclnc:ll when . -
[b] mcan<mcdian/modc

[d] M.D

[a] Mczm>mcdian>nmdc

[c] Mean=median=mode | [d] mean=mode

7. The value of correlation always lie between .

[a] +3 and -3 ‘[b] +2 and -2 -

[c] +1 and -1 [d] O |
8. Number of observatlons in regressmn analy51s is considered as
[a] Degree of possibility - - [b] Degree of average

[c] Degree of-freedom [d] Degree of variance

9. Arrangement of statlst1cal data ifi accordance Wlth its time of occurrence

IS Caued ." - N | E ‘o g s
. [a] Time series | " [b] correlation
[c] regression i [d]'ra'nge |

10. Damages due to flood, droughts StI’lkCS and poht1ca1 dlsturbances are

[a] Trend | " o ~[b] seasbnal
[c] eyclical ' © [d] irregular
SECTION - B [5X7=35]

Answer ALL the Questions.

. a) What are the functions of statistics?
| _ [OR]
b) What are the methods of collectm0 primary data?
| .
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12. a) Calculate the

median for the following frequency disttibution:

“No. of Students

mg [ No. of J Students Marks
45-50 bﬁlﬁﬂ 2025 3.
40-45 15 15-20 T4
35-40 267 10-15 15
30-35 30 5-10 7
25-30 42
[OR]
b) Daily earnings of ten persons of a partlcular v1llage are glven below.
Fmd out Geometrlc Me?m l -
85 1 70 15 | 75 | 500 ',', z_;. [ _745' | 250 -407; 36

13. a) Quotatlons of index numbers of secunty pnces of a certam Jomt stock

- company are glven below

Usmg rank correlatlon method determme the relatlonshlp between

; A

Year Debenture Prlce Share Prlce ,
S | 978 - 732
2 992 . - 85.8
3 - 98.8 . 2789
4 - 983 7580
5 , 984 . 120
o - 0967 -87.2
e 97.1 83 8-

debenture price and share pI‘lCC

[OR

I

Y 4 .

2. b) Cdlculate Peérson’s‘ COefﬁc1ent of Skewneési _

17.5

x: - |24, 22.5 | 275 | 32.5 | 37.5 | 42.5
28| 42 | 54 [ 108 129 | 61 | 45 | 33
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14.

b) You are given below the followin

[OR]

" . - . . a - e ‘o “
a) What are the differences between Correlation and Regression?

p information about advertisement

expenditure and sales: C ‘alcujate the two re;rru,smn equatlc)ns

|

B ’ ‘/\dv I xp (X) AIU (Y)
. | (Rs. in C lore) 3 (Rs in C rorc)
4 Mecan 20 120
a1, 5 25
Corrclation cocefficient | 0.8

15. a) What are the components of 'I ime Series’ Analy51s‘7
IOR]

b) Calculate the trend values by the method of 4 yearly movma averages

| SECTI,ON ~C [3X10=30]

Answer’ any, THREE Questiohs,

16. Elaborately explain- the parts of a Table

17. Calculate Medlan and Mode of the data glven below Using them ﬁnd
amhmeuc mean.

50
75

60 -
80

40
65

20

. ‘30v
123

145

Marks : 10

No.of Students'.:_f' |8

P .

'18. Calculate the Karl Pearsons. coefﬁment of correla’uon between expendlture
and sales

Expenditure

39

65

62

%

82

75

25

98

36

78

Sales :

47

53

86

62

60

‘91

o1

84 |

68
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uctivity indices

and prod

able gives the aptitude tes! SCOICS

19. The following t
cted at random:

of 10 workers sele

Aptitude Scores (X) ’ |
productivity Index (Y) 0| 6 | - 60 | 81 J
d estimate 1) the

gression equations  dl

ore is 92. ii) The test SCOTC

Calculate the two TC
p_roductivity index of a worker whose test sc
of a worker whose productivity index is 75.

"

20. Calculate the thtee-monthly moVirig avefagés frbm the following data:

Jan Feb " | Mar Apr May: | Jun

. 57 6 | .63 | 72 69 | 78

Jul | Aug Sep | Oct | Nov ‘Dec

82 81 o0 D92 [ .95 | 97
W

3
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~ Course Title : Commerce for Competitive :

Max Marks :75

Examinations

o

L)

T SECTION-A  [10X1=10]
Answer ALL the Questions. - -
Choose the Correct Answer.

Any letter personal or official is meant to communicate.

[a] message _ - - [b] order

[c] idea ‘ B e [d] srtuatlon "
The third aspect of wrrtmcraletter is | el

[a] layout : ':' ‘ 3 [b] _1ariguage' :
: ~ [d]introduction. - -

[c] content

A note n1al<ing~ex.erc_ise fh_ué sensea ., .
-[a]knowledge purpoSe . i £, N‘[b] stuciy p‘urpose |
[c] practical purpose Hoe: [d] materlal purpose

Negative motivation or: fear motw dthl] 1S based on

k rb] depromotlon

[a] punrshment

[c] self control Id] force '

Reports other than newspape1 r80011b nmmally end w1th the writer’s name
and Maiy ~ I N SCFRIEEEs
[a] date™ - FREAT dlis oo -[b]placé '
el initial - e end] otficename
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6. The style of a report is expected to be formal and -
[a] impersonal [b] inter personal |
[c] intra personal [d] personal

7. The précis shouldbe 10 the original.
[a] equal [b] base
[cj true - [d] tie
8. The process of préeis writing 1s paragraph.

[a] encoding [b] decoding
[c] develop | = [d] conclude

9. In an essay the is very important

[a] theme [b] word selection

+[c] structure [d]'no'of words

10. Narrame essays will g give the space for. | ‘
[a] arguments R . [b] assumptions
[c] imaginations . - Lo &L SN T [d] language

| Dxrectmns Read the sentences below and ﬁnd out whether there is any .error
* in them. Each sentences has been divided into. four parts, numbered (a), (b).(c)
and (d). the error, if any, will be in one of the parts The number of that part is

answer. ~
11. I went to my old school (a) 1o meet the p11n01pal (b) and surpused by the

- changes (c) that had taken place there (d).

12 I have spend all the mone v (a) that may father gave me (b) and now I am
- not in a position (c) to pay my bills (d) B

~ Directions : In each of the iollowmg questions, four pans of a words are ©
~ given out of which in there pairs bear a certain relationship, choose lhc pair

in which the words are dlfferently related ‘ |
[a] mercury LR §iL, [b] moon : eanh

[c] star : oalaxy | [d] whee' a\le
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ja) deer : flesh " |b] crane : fish

[d] mongoose : snake

e
‘s
r

\ 2 CIOW ¢ sarron

14, Ja) car:road [b] ship : sea

f¢] rocket & space |d] acroplane : pilot

|13 Roduce 1283527238368 to its lowest terms. “

Q3N TR [b] 3/13
[c] 713 RN 1| L 1
| 16, The RC.F OF 204, 1190 and 144\ jatr e ¥R BN
| (2117 | ORE

[c] 19 L - [d]2d

17. Which part contains the fractions in ascending order?
[b] 16/19, 11/14. 19721

[a] 11/14.1619, 19721 | v
[c] 16719, 1921, 11/14 il 1921, 11/14, 16 19
IQ ‘Which of th\ following numbcrx dm\ not hr. between 4/5 & 1cl 13
[a} 172 _ © b3 ‘
| “[c] 344 [d] 37
19100 x10-100 +340=7 7 P
[a] 29 - | [b] 780
[c] 920 ‘ [d] 979
20. The value of (6 + 6*6 +6)=6 /4 + 4 +4 + 4 4is cqual :
fa] 1 e RS
ez R (I R

= 21.In \ﬁm time will Rs. \OO give e Rs.30 as interest at the rate of 3% pu‘

annum simple interest?
[a] 2yTs. .

[c] 3 vrs
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‘ ' e for two vears s Rs.205 and
22. The compound interest on a sum of money 1(?r two )eartsh issame o
| ‘simplé interest on the same sum for the same period gt e
Rs.200. Find the sum. -
[a] Rs.1500 [b] Rs.2500
[c]Rs.20000 [d] Rs.3000

- 23. What is the present worth of Simple interest and compnu?d interest 169
due in two years at 4% compound interest.

[a]Rs 15215 [b] Rs156.25 :
[c] Rs160.40 | [d] Rs 166.50
24 1If the discount on Rs 1236 due 6 months hence is Rs 36 .the rate of
. interest 1s . , ©

[a] 6% : ‘ , [b] 8%

- [c] 9% ) T THd) 5% | |

25.A can do a piece of work in 10 days, while B can do it in 15 days.
Working together, in how many days, they will complete the work? '

[a] 4 days i bR s oe bl S days -

 [c)6days o - [d]8days

26. When three pipes are kept o‘pen, the tank 1s ﬁlled,in‘ 12 hrs. If "one‘tap can

fill it in 1'.0 hrs and second in 15 h_rs, in how many hours can the third
emptyit? - ¥ - e R e "]

[a] 10hs - T ] 0 e

27. A train 300 metre long is running at a speed of 35 km/hr. another train

2'00 km long is coming from opposite direction at a speed of 25 km,/hr. the |
- time taken by trains to cross each other js ‘ ¥ |

[a] 20 second :

%3 [b] 35 second
[¢] 40second

- [d] Rs. 35.00

—d..

\" W
\ oW
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29 The Population in a cny increases at the rate of 5% annually. Its present
pOpulatlon 15 1,85,220. The population three years ago was approximately
[a] 1.81.500 [b] 1.83.433

[c] 1.60.000 [d] 1.27.783

- Directions: In cach of the following questions, there is a certain relation
between two given words one side of:: and one word is given on another

_ side of :: while another word is to be found from the given alternatives,
having the same relation with this word as the given pair. select the best

alternative.
30. Atom : Matter. : : Particle : ?
[a] Proton - [b] Electron
[c] Molecule _ ~ [d] Dust
'31. Professor : Lgcture': : doctor : 7 | '
[a] Hospi‘tal | e e ~ [b] Disease
[c] Medicine S ~[d] patient

Directions: In each of the followm questions- there is a certain relation
between two given words one side of:: and one word is given on another side
of :: while another word is to be found from the given alternatives, having the
same relation with this word as the given palr has select the best altematn €.

32. Knoll : Hill : Eclogue ?

[a] Poem = S | TR [b] Music

[c] Drama | [d] Ballad
33. Branch : tree | |
[a] Crest : wave G i [b] Bulb : tilament | ¢
[c] Clothes cupboard ', & | [d] Water : Tap
34. Revolver : Holster | | |
[a] Book : Bag , o [b]l}'fiye :eyelid
[c] Juice : Glass y | [d‘]i Nostril : Nose |

—5

G Scanned with OKEN Scanner



| __ | e e h that have a
g : E a5t nsists of two words eac
Directions: The following questions €0 d pairs of words. Sele_ct

- ‘ore
certain relations each other, ﬁ)l](’)wccl'hy four lctt.cr'v B s
the lettered pair that has the same relation as the original pair rds.

35. Flag : Nation
| i y) Insignia @ Rank
[a] Emblem : Prosperity [b] Insignia : Ra
[c] Wealth : Prestige [d] Honour : Status
36. Sheep : Mutton
[a] Duck : Roast [b] Hen : Poultry

[c] Deer : venison | ' [d] Lamb : Veal

Directions: The following questions consist of two words each that have a |
certain relationships to each other, followed by four lettered pairs of words. |

Select the lettered pair that has the same relationship as the original pair of |
words.

37. Fan : sweat .

[a] Fire : anoké | R - [b] Rain : drought

[c] Wind : Evaporation | [d] Crop : Harvest

Directions: Three words in-bold letters are given in each question, which have

~something in common among themselves. Out of the four alternatives, choose
the most appropriate description about these three words.

38 Arjun:Uddhav : Sudma
~ [a] They were pandavas
[b] They were all princes
[c] They were great warriors
{d] They were friends of Krishna

~ 39.Sarnath : Kapilvastu : Sanchi _ |
" [a] Thesc are places having massive pillats -
- [b] These are linked with lord Buddha

[c] These are famous for stone caves

. [d] These are ancient universities

Y
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t/‘
s, there is some relationship

Directions: In each of the following question
ationship holds between

between the two terms to the left of :: and the same rel
the two terms to its right. Also in each question, onc (€rm cither to the right of
-+ or to its left is missing. This term is given as onc of the altcrnatives among
the five given below each question. Find out this term.

40. BDAC : FHEG : : NPMO : ?

[a] RQTS | [b] QTRS

[c] TRQS - [d] RTQS
41. EGHI : KLMN : : BCDE : 2 s

[a] CDEF | ~ [b] DEFG

[c] GHIJ - [d]EFGH
42. TALK : YFHG : : MIND : ? . X,

[A]RNIZ E © [b]QOKA

[c]QMIZ . [d] QMRH

43. Lakshmi and Meena are Rohan’s wives. Shalini is Meené’s step dalighter.
- How is Laskhmi related to Shalini? ‘ | \
"[a] Sister | . - [b] Mother-In-Law
[c] Mother. - - © [d] Stép-Mother
Directions : Read the following informatibn and answéf the questions
given below. | - R e L
- Aisthe son of B ; C B’s sister has a son D and a daughter E; F is the
" maternal uncle of D. i S i e _
44. How is A related to D?

\

[b] nephew -
[d].brother

[a] cousin

[c] uncle

45, ’How'ma'ny nephews does F have?

~[a] Nil ) o 7 | [b] one o
[c] two | ' ‘ l'[d],three

7.
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| [a] 16 | e |
[c] 28

54. Find the number of trlangles in the glven ﬁgure

- : . . i . e.
53. Find the number of triangles 1mn the given ﬁgur |

‘-[a] 12 -
[c] 14

5 5 Find the minimum number of stra1ght hnes requlred LO make thﬁ :

glven figure. -

.[a]‘u‘\ e
[c]16

56L Find the numbéfiof triangles in the givcri ‘ﬁgure;

[a] 1 1‘ |

[c] 15

[b] 22
[d] 32

| "'[b]a 13
d] 1557,

e ‘-:[511114- | |
7

[b] 13

[dj17

.
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- [23]Gs) (28
371 139

i [a] §7 . '-tb]p@‘f__},,.'_[c] 435 0 _[d];o_z

(] 63~ [BI78 . [cJ100 . "[d]117

PN s i Lt e IR L O K L LR

[ B1229 1312
51, The W Ord' “Buddha” means \

[a] Conqueror e ' [b] A hbexator '
[c] An enlightened one A [d] A W andurer

s
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K place

| 1 fring 1001\ - ‘
hllianwallabagh firing l [b] Calcutta N \

02. J¢
(a] Delhi [d] Amritsar

[c] Bombay

63. Tlu title of Mahatma Wi

[a] :::\ndr{math Tagore 3, N Raia
: e
64. Acc[or]dmo to 2011 census which city is the largest city 1n India
[a] Mumbal | | L [b] Kolkattel
[c] Goa e R A Chen,
65. Indla s share of 010bal trade i "
[a] 5% - . : e .[b] 4%
[c] 1% Fait e T ] Less than 1%
66 The factors that affect demand e oA | e
[a] prlce : e . [b] mcome
[’C] size Offalfllly i Sl - [d] all-the above
; 67, fgc\;vgg?a?:;) of _the const1tut1on of the fun@mental r10hts have been. ye
I e ’ . BITwo
| = el Three ' [d] Four
68. szz iagszlrllgnbers from the Anglo Indlan commumty are nommated in

- [a]5 members}» [b] 6 mem_ber§

1] 3 memb ;
[c] 3 members . ~ [d] 2 members

- 69. Who can dis’solye the Rajya Sabha?-
[a] The Pre id | |
3 V P si eet | . SR [b] The Prime Minister
ice President ' y ca ‘
BOES | [d] Nebody can dissolve

I et
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